
https://www.passapply.com/1z0-516.html
2024 Latest passapply 1Z0-516 PDF and VCE dumps Download

 

 

 

1Z0-516Q&As

Oracle E-Business Suite R12.1 General Ledger Essentials

Pass Oracle 1Z0-516 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-516.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-516 PDF Dumps | 1Z0-516 Practice Test | 1Z0-516 Braindumps                                1 / 4

https://www.passapply.com/1z0-516.html
https://www.passapply.com/1z0-516.html
https://www.passapply.com/1z0-516.html


https://www.passapply.com/1z0-516.html
2024 Latest passapply 1Z0-516 PDF and VCE dumps Download

QUESTION 1

ABC Corp. has determined its Accounting Key Flexfield structure for the implementation of Oracle E-Business Suite
Release 12. The Accounting Key Flexfield structure contains five Segments: Company, Business Unit, Department,
Account, and Product. 

They have the following requirements: 

1) The Department values should be based on the Business Units. 2) They want to produce a quarterly Balance Sheet
for each Company. 

Which three statements are true? (Choose three.) 

A. The Product Value Set is dependent on the Accounts. 

B. The Business Unit Value Set is defined as Independent. 

C. The Account Segment has a Value Set with no Validation. 

D. The Company Segment is qualified as the Balancing Segment. 

E. The Department Segment is qualified as an Intercompany Segment. 

F. Cross-validation rules are required to enforce dependency of Departments on the Business Units. 

Correct Answer: BDF 

 

QUESTION 2

Your users receive a notification for a transaction from CPQ when an approval has been retracted and is 

no longer needed. 

The notification contains a generic message about this action. However, users would like to get more 

details about the transaction. 

What is the Oracle-recommended best practice to fulfill this requirement in CPQ? 

A. Switch the system-generated email-to-email template, which will include the desired transaction information when
approvers are notified. 

B. Trigger an email action to notify users by custom defining the email\\'s subject and body, which contain the
transaction details, by using the advanced function available in the Revise action. 

C. When a transaction needs to be revised, allow the transaction owner to send a parallel email to approvers, which
should include the necessary transaction details. 

Correct Answer: B 

 

QUESTION 3
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During the testing phase of your implementation, you find that you are unable to delete a journal batch, though it is not
yet posted. You ask the technical consultant for help and he emails you a checklist of scenarios in which the batches
cannot be deleted. 

Select three scenarios that would be on the checklist. (Choose three.) 

A. The source is frozen. 

B. The journal batch has not been posted. 

C. Funds have been reserved for the batch. 

D. The journal batch has not been approved. 

E. Funds are in the process of being reserved for the batch. 

Correct Answer: ACE 

 

QUESTION 4

ABC Corporation has set up the Accounting Key Flexfield. It has also set up a Descriptive Flexfield to store vehicle
information associated with the asset category "Vehicle". Identify three correct statements. (Choose three.) 

A. The Descriptive Flexfield is called an "intelligent key structure." 

B. The Descriptive Flexfield for the asset category "Vehicle" captures only additional information. 

C. The Descriptive Flexfiedl for the asset category "Vehicle" appears as a normal field on a form. 

D. The combination of values in the Accounting Flexfield identifies a particular business entity or class of entities. 

E. You can define cross-validation rules to control the allowable combinations of segment values for the Accounting
Flexfield. 

Correct Answer: BDE 

 

QUESTION 5

Identify three features of Key Flexfields. (Choose three.) 

A. Key Flexfields are used as identifiers for entities. 

B. The Key Flexfield structure comprises Segments. 

C. A Key Flexfield structure consists of multiple code combinations. 

D. Key Flexfields appear as a single-space field enclosed in brackets. 

E. Each segment of a Key Flexfield usually contains meaningful information. 

Correct Answer: ABE 
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